1. GDP stands for Gross Domestic Product. What does it show? Pick up the correct statement given below:
(a) It shows how big is the economy of a country in a given year in terms of its total output.
(b) It shows what the total product of a country in a given year without counting the country’s total resources.
(c) It shows the number of people involved in production in a particular year.
(d) It shows the total value of trade trans-actions of a country in a particular year
Answer: a

2. 	Underemployment occurs when people
(i) do not want to work
(ii) are working in a lazy manner
(iii) are working less than what they are capable of doing
(iv) are not paid for their work

2. Employment figures of a country are based on data collected from 5-yearly survey on employment and unemployment. Which organisation conducts this survey?
(a) NSSO—National Sample Survey Organisation
(b) NREGA 2005—National Rural Employment Guarantee Act, 2005
(c) ILO — International Labour Organisation
(d) Census of India
3. Look at the following examples. Which of these are unorganised sector activities?
(i) A teacher taking classes in a school
(ii) A headload worker carrying a bag of cement on his back in a market
(iii) A farmer irrigating her field
(iv) A doctor in a hospital treating a patient
(v) A daily wage labourer working under a contractor
(vi) A factory worker going to work in a big factory
(vii) A handloom weaver working in her house


